BRX—Ik1 (A4

SHM5E6 AR

ALSATERKE (RELAE) KEARBEREREE GHER)

FoKEFRE 8:30

KEHAEBHER (BLIEKSE HKkF (EK )
=] PN 3 B | KE|&B E| pH |7LAY| BE | &% |&tY| & ESZN NI
& REW | 1A HY
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 i 18.5 15.9 51.4 7.76
2 [55] 19.5 17.0 22.9 1.75
3 [55] 20.0 17.3 | 498.0 7.55
4 i 17.5 16.5 | 777.0 8.00
5 i 19.0 17.2 | 460.0 7.86
6 g 17.0 16.7 | 340.0 7. 81
7 = 17.5 15.3 | 164.0 1.71 41.6 | 61.3 260 2.6 | 6.01 0.15
8 i 20.5 17.7 ] 127.0 1.74
9 [55] 18.5 16.9 91.5 7.76
10 £ 20.5 17.4 | 527.0 7.92
11 [55] 20.0 17.7 | 187.0 7.79
12 [55] 21.0 18.6 | 156.0 1.75
13 i 23.0 17.4 | 162.0 7.76
14 [55] 23.0 19.9 | 145.0 1.75
15 [55] 21.5 18.6 | 107.0 7.76
16 i 22.0 18.2 96. 4 1.75
17 i 25.0 19.3 81.5 7.78
18 i 23.0 20.9 81.8 1.76
19 i 23.0 19.9 62.9 1.75
20 £ 21.5 20. 1 59.8 7. 81
21 i 20.0 21.9 52. 4 7.85 51.8 | 74.1 167 5.1 1.43 0.04
22 £ 21.0 19.2 25.4 7.82
23 = 18.5 16.6 | 134.0 7.79
24 i 22.5 18.1 55.8 1.72
25 = 22.0 19.1 32.1 1.74
26 £ 23.0 19.9 18.8 1.78
217 [55] 23.5 20.3 18.2 7.79
28 £ 24.0 20.5 12.4 7.80
29 [55] 23.5 20.9 12.7 7.80
30 £ 24.5 22.3 10.6 7.82
31
Ty 21.1 18.6 | 152.4 1.78 46.7 | 61.7 214 3.9 3.72 0.09
4= 25.0 22.3 | 771.0 8.00 51.8 | 74.1 260 5.1 6.01 0.15
=IE 17.0 15.3 10.6 1.55 41.6 | 61.3 167 2.6 | 1.43 0.04




BRX—Ik1 (A4

SMSE6 RS
ALSAITERKE GEEME) KEFABRERBREE FERE)
FROKREFRE 8:30
KERBRBER (SThEkKE Bkt (8K )
=] PN 3 B | KE|&B E| pH |7ILAY| BE | &% |&tY| & ESZN NI
& REW | 1A A
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 i 18.5 16.9 0.9 7.34

2 [55] 19.5 17.4 0.7 71.317

3 [55] 20.0 18.3 0.4 7.33

4 i 17.5 16.9 0.8 7.08

5 i 19.0 17.2 0.5 7.21

6 E 17.0 16. 6 0.3 7.20

7 = 17.5 15.7 1.0 7.32 34.9 | 55.1 105 7.2 | 0.04 <0.02

8 i 20.5 16.8 0.5 7.34

9 [55] 18.5 17.1 0.7 7.45

10 £ 20.5 17.2 0.5 1.22

11 [55] 20.0 17.2 0.5 7.30

12 [55] 21.0 18.0 0.6 71.317

13 i 23.0 17.4 0.7 71.37

14 [55] 23.0 19.3 0.6 7.42

15 [55] 21.5 19.0 0.8 7.43

16 i 22.0 18.7 1.1 7.44

17 i 25.0 19.3 0.4 7.50

18 i 23.0 19.3 1.0 7.36

19 i 23.0 19.8 1.2 7. 31

20 £ 21.5 20. 1 1.0 7.34

21 g 20.0 20.3 1.0 7.35 42.4 | 63.8 141 48| 0.04 <0.02
22 £ 21.0 19.6 0.7 1.37

23 = 18.5 17.8 1.1 7.41

24 i 22.5 17.3 0.7 7.35

25 = 22.0 18.3 0.9 7.32

26 £ 23.0 19.0 0.7 7.40

217 [55] 23.5 20.3 0.6 7.45

28 £ 24.0 20.2 0.8 7.48

29 [55] 23.5 20.6 0.7 7.46

30 £ 24.5 21.4 0.7 7.48

31

Ty 21.1 18.4 0.7 7.36 38.6 | 59.5 123 6.0 | 0.04 <0.02
4= 25.0 21.4 1.2 7.50 42.4 | 63.8 141 7.2 | 0.04 <0.02
=IE 17.0 15.7 0. 7.08 34.9 | 55.1 105 4.8 | 0.04 <0.02




